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Assam Rifles Group B & C
Model Paper- Reasoning

Direction (1-5): In the following questions, a series 1s given, with one term missing. Choose the
correct alternative from the given once that will complete the series.

1).BCFG, JKNO, RSVM, ?
a) ZADE
b) HIKL
¢) STUX
d) MNPQ

Ans-a

2).CIM, HNR, MSW, ?
a) SXA
b) UYB
¢) RXB
d) ZEH

Ans-c
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3).2,3,6,7,14,15,?
a) 16
b) 30
c) 31
d 32

Ans-d

4).3120, 7, 122,23, 4
a) 488

b) 621

c) 610

d) 732

Ans-b

5).0, 5, 60, 615, ?
a) 6030
b) 6170
) 6130
d) 6000

Ans-b

6).Nithya is Sam’s sister. Mokan is Sam’s father, Selvan is Rajan’s son. Rajan is Mokan’s
brother. How is Nithya related to Selvam?




a) Daughter

b) Sister
c) Cousin
d) Wife
Ans-c

7).A boy’s age is one fourth of his father’s age. The sum of the boy’s age and his father’s age is
35. What will be father’s age after 8 years?

a) 15
b) 28
c) 35
d) 36
Ans-d

8).A man said to a lady “your mothet’s husband’s sister is my anut” How is the lady related to
man?

a) Sister

b) Mother

c) Daughter

d) Grand daughter

Ans-a

9).1f South East becomes North, then what will South West become?
a) North

b) West




c) East
d) North West

Ans-c

10).Arrange the following words in their descending order:
1. Weekly 2. Bi-annual 3. Fortnightly
4. Monthly 5.Annual

a) 1,3,4,2,5

b) 2,541,3

c) 4,1,2,3,5

d 5,2,4,3,1

Ans-d

(Directions Question.11 to 12): Arrange the given words in a meaningful and ascending order
and select the option indicating the correct order.

11).1.Population 2.Disease 3.Death
4. Poverty  5.Unemployment

a) 1,2,3,4,5

b) 1,54,23

c) 1,5,2;34

d)y 153,42

Ans-b




12). 1.Stich 2.Mark 3. Measure
4.Cut  5.Puton

a) 3,2.4,1,5

b) 5.,4,2,3,1

c) 234,15

d 3,2,14,5

Ans-a

13).A goes 25 meters north, then turns to his right and walks 30 meters, then he turns to his right
and walks 15 meters, again he turns to his right and walks 30 metrés.How many metres is he
from his original position

a) 10m
b) 15m
c) 20m
d) 5m
Ans-a

14).If ‘south-East’ is called “East’, “North-West’ is called ‘West’, is called ‘South-West’ is
called ‘South’ and so on, What will ‘North’ be called?

a) South-East
b) North-West
c) South

d) East

Ans-b




15).6 persons A, B, C, D, E, and F are sitting in a circle facing the centre. F is opposite A. D and
C is not the neighbors of F. B are second to the left of E. Who is opposite D?

a) C
b) E
c) Either BorE
d) Either Eor C

Ans-c

16). A is to the south of B, and C is to the east of B. In what direction is A with respect to C?
a) Southwest

b) West

c) South

d) Northeast

Ans-a

(Directions Question 17 and 18): From the given alternative words, select the word which cannot
be formed using the letters of the given word.

17). COMMENTATOR

a) CATERER
b) COMMON
¢)-~-MOMENT

d) COMMENT

Ans-a




18). REFRIGERATE?
a) TREE

b) GREAT

¢) GENERATE

d) REFER

Ans-c

19). Find the combination of numbers for which corresponding letters will forma meaningful
word?

GITRBH
123456
a) 5,3,2,6,4,1
b) 4,5,2,3,6,1
c) 3,2,6,5,4,1
d 5,4,2,1,6,3
Ans-d

20).The letters skipped between adjacent letters are in the order of 4, 2, 3, 1.Which of the
following sets of letters follows this rule?

a) PUYZB
b) - LQTXZ
c) EKMQS
d) NSWXZ

Ans-b




Directions (21-26): In each of the following questions, select the related word/letters/number
from the given alternatives.

21).  11:132::7?
a) 10:100

b) 9:90

c) 13:169

d) 15:250

Ans-b

22).1/9 : 1/181, 1/13 : 2
a) 1/169
b) 1/125
) 1/120
d 1/127

Ans-a

23)AB:ZY ::CD:?
a) WX
b) UV
c) XW
d)y VU

Ans-




24).Sheep : mutton : : Deer : ?

a) meat

b) flesh

c) venison

d) wveal

Ans-c

a

25).Cobbler : Leather : : Tailor : ?
a) Cloth

b) Shirt

c) Draper

d) Thread

Ans-a

a

26).FLOWER : REWOLF : : FRUITS : ?
a) STUIRF

b) STIURF

c) STUIFR

d) STRUIF

Ans-b

Directions (27-30): In each of the following questions, find the odd number/letters/number pair
from the given alternatives.




27).

a) TPDC
b) BKDF
¢) OLTF
d) BILQ

Ans-c

28).

a) Distribution
b) Dispersion
c) Diversion
d) Dilution
Ans-

d

29).

a) 6

b) 64

c) 24

d) 120

Ans-c

30).
a) Bachelor

b) Widow




c) Spinster
d) Wife

Ans-a

31).Arrange the following words according to the English Dictionary:
1. Apple
i1 Appreciate
1. Apply

1v. Apartment

a) v.i i1, v, 11
b) wv,iii, I, 11, iv

c) V,1,1ii,1v, 1l

Ans-d

Directions (32-33): In each. of the following questions, which one of the given ‘responses would
be meaningful order of the following words in ascending order?

32).(1) Hut (11) House (ii1) Palace  (iv) Bungalow
a) v, 1ii, 1, 1i
b) 1,1, iv, iii

¢) 1,1v, 11, 1

d) "1, 11, 1v, 111




Ans-

33).(1) Point  (i1) Triangle (ii1) Square (iv) Angle (v) Line
a) 1v,1, v, 1i, iil
b) I, i, 1, v, 1v
c) Iii,iv,v,iu
d) 1,v,iv,1i, i1

Ans-d

34). Which one set of letters whom sequentially placed at the gaps in the given letter series shall
complete it?

XX dY XYYX Y
a) YYXY
b) YXYX
c) XYYX
d) YYXX
Ans-d

Directions (35-38): In each of the following questions, choose the correct alternative from the
given ones that complete the series

35T, Ry PyN, L2, ?
a) J,G
b) .JH

c) K/H




d K I

Ans-b

36).CDE, IJK, NOP,?
a) FGH
b) RST
c) TUV
d) QRS

Ans-b

37).1, 49. 121,?, 289
a) 529

b) 169

c) 329

d) 225

Ans-b

38).0, 2, 6, 12, 20,?, 42
a) 34
b) 30
c) 32
d) 28

Ans-b




39).Find the Wrong number in the given series.

8, 16, 24, 40, 62,104. 168

a) 24
b) 40
c) 62
d) 104
Ans-c

40).pointing to Mala, Kala said, “she is my brother’s only sister’s daughter’ How is Mala related
to Kala?

a) Mother

b) Daughter

c) Aunt
d) Niece
Ans-b

41. If Ram runs less fast than Shyam and Shyam runs as fast as Lal but less fast than Tom. Who
runs fastest?

a) Lal
b) Shyam
c) Tom

d) ~Tom and Lal

Ans-c




42).Which one set of letters when sequentially placed at the gaps in the given letter series shall
complete it?

a bcaa caa
a) abcc
b) abac
c) aabc

d) baac

Ans-c

43).J,Q, LR, H, S, ?,?
a) FT

b) GT

c) HU

d) KT

Ans-b

44).CFL, KIK, G J, I0L?
a) KRH
b) KRJ
¢) JRH
d) KQH

Ans-a

45).256, 16, 4,?




d 4

Ans-c

46).1, 6, 13,22,7 46
a) 32
b) 33
c) 40
d) 43

Ans-b

47).Find the wrong number in the given series. 41, 41, 42, 44, 48, 51, 56
a) 48
b) 51
c) 56
d) 41

Ans-a

48).A and Bare the young ones of C. If C is the mother of B, but A is not the daughter of C, then
what is the relationship between C and A?

a) Nephew and Aunty

b) “ Brother and Sister




c) Mother and Son
d) Niece and Aunty

Ans-c

49).There are five friends Shailendra, Shallendra, Keshav, Madhav, Ashish and Rakesh,
Shailendra is shorter than Keshav but taller than Raksh. Madhav is the tallest. Ashish.is a little
shorter than Keshav and little taller than Shailendra. Who is the shortest?

a) Rakesh
b) Shailendra
c) Ashish
d) Keshav

Ans-a

50).From the given alternatives select the word which cannot be formed using the letters of the
given word.

LAUGHTER
a) GATE
b) HATE
c) RATE

d) GRUNT
Ans-d
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